MUHUCTEPCTBO HAYKU 1 BBICIIEI'O OBPA3OBAHUSI
POCCHUICKOU ®EJEPALINN
®EJEPAJILHOE TOCYJAPCTBEHHOE ABTOHOMHOE
OBPA3BOBATEJILHOE VUYPEXXJIEHUE BBICIIIET'O OFPABOBAHUS
«CEBEPO-KABKA3CKUI ®EJIEPAJIBHBIN YHUBEPCUTET»
HEBUHHOMBICCKHI TEXHOJOI' MUECKUIM NUHCTUTYT
(OUIINAJ)

METOINYECKHUE YKA3AHUSA

I10 BBIITOJIHCHUIO IMTPAKTHYCCKUX pa60T IO AUCHUITJINHEC

«MHOCTpaHHbI A3BIK B chepe npodhecCHOHANTbHOM KOMMYHHUKAIIUI)

Hanpasienue moaroToBku 15.03.04 AsToMaTHu3anus
TEXHOJIOTHYECKHUX MPOIECCOB U MPOU3BOICTB

Hanpasiennocts (mpodunb)  MHGOpMALMOHHO-YIPABIISIOIUE CHCTEMBI

dopma 00yueHust Ounas/3a0uHas

I'on Haygaia 06yquH;1 2022 rona

Hesunnomeicck 2022



Lenpto  oOydeHHs]  CTyAEHTOB HWHOCTPAHHOMY  sI3bIKy B  cdepe
npo(ecCUOHaTbHON KOMMYHHMKALlMM B BBICHIEM YYEOHOM 3aBEACHUM SIBISIETCS
IIOBBIILIEHUE UCXOAHOTO YPOBHS BJIAJICHUS WHOCTPAHHBIM SI3BIKOM, JOCTUIHYTOI'O
Ha TOpeablAylieil cTyneHn oOpa3oBaHMs, a TAaKKE COCTOUT B (DOPMUPOBAHUH Y
oOydyaeMblX  CHOCOOHOCTH  OCYHIECTBISITh  AKTHUBHYIO  MEXKYJIbTYPHYIO
KOMMYHUKAIIMIO B paMKaX CBO€H MpopecCHOHANbHON U HAYYHOH €SI TEIbHOCTH.

Lenbto ocBoeHust yueOHON aucuuriuHbl «HOCTpaHHBIN fA3BIK B cepe
npodeccuoHaIbHOM KOMMYHUKAUWY sBJIsieTCA popMupoBaHue kommnereHuin YK-
4.

VK-4 - crnocoOeH OCYHIECTBIATH JENOBYI0 KOMMYHHUKAlIMIO B YCTHOM U
MUCbMEHHOM (¢opMax Ha TOCYIapCTBEHHOM s3blke Poccuiickoii denepanuu u
MHOCTPaHHOM(BIX) sI3bIKE(aX).

Meronnueckue YyKa3aHUs W 3aJaHUs  COCTaBJIIEHbI B COOTBETCTBUU C
tpeboBanusiMu PI'OC BO mo MHOCTpaHHOMY SA3BIKY JJII TEXHUUYECKHUX BY30B U
IpeJHa3HAuYEHbI JJIs CTYJEHTOB 10 HarnpaBiaeHHo noarotosku 15.03.04.

MeToauueckue ykasaHMsl COAEpKaT 3ajJaHusl AJid NMPaKTUUYEeCKOH padoThl
CTYJEHTOB. 3aJaHus MOXXHO MCIOJb30BaTh IIPU MPOBEACHUU YCTHOTO H
IIMCBMEHHOIO IIPOMEXKYTOYHOTO WM MTOTOBOIO KOHTPOJSA 3HAHUM CTYIEHTOB.
TekcTbl M ympakHEHUs TpeAHAa3HAU€Hbl MJi1 IOBTOPEHUS U 000OIICHHUS
IIPOUJICHHBIX T'PAMMATHYECKUX TEM M JIEKCMYECKOIO Marepuasna, a TakxKe Ul

KOHTPOJI Pa3JIMYHbIX BUJIOB PEUEBOM JIESATEIBHOCTH.
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UNIT 1
Hean:
1. OBnanmets MPAKTUYECKUMU HaBBIKAMM MOCTPOEHUS MPOCTHIX
MOBECTBOBATEIbHBIX  NPEAJI0XKEHUW,  TMOBEJIUTEIbHBIX  HAKJIOHEHHU,

OPUTSKATENBHBIX U YKa3aTeJIbHBIX MECTOMMEHUN (HaXOIUTh UX B TEKCTE,
YMETb NEPEBOJUThH HA PYCCKUH S3BIK).

2. Pa3BUTbh HaBBIKM YTEHHs, MOMCKAa HHGOpMAIMM B KayecTBE OTBETOB Ha
BOMNPOCHI 00 MHKEHEPHBIX MPOPECCUAX HA AHTTTUICKOM SI3BIKE.

3. OBnajeTh HaBBIKOM KpPaTKOTO IepecKa3a MPOYUTAaHHOIO MaTepuasa.
3HaHuS M yMeHHs, NpuodpeTaemMble CTYJAEHTAMH B pe3yJibTaTe OCBOE-

HHMS JAHHOW TeMbl, (opMHpyeMble KOMIIETCHIUM:

- pabota co cCiOBapsIMH U CIPAaBOYHUKAMM; HCIOJIb30BAaHUE ayauO- U

BHUAco3anucen; Murepnera;

- OTBETHl Ha KOHTPOJIbHBIE BOMPOCHI; aHATUTHYECKass 00pabOTKa TeKcTa
(pedepupoBanue, aHaau3); MOATOTOBKA COOOIIEHUH K BBICTYIUICHHIO Ha

CEMUHAPCE,

- BBIMIOJHEHWE yNpaXHEHWH 1O o0pasily; pelleHne BapHaHTHBIX

YIPa)KHEHHM.
®dopmupyeMbie komriereHun: Y K-4.

AKTYaJIbHOCTb Te€MbI: B OCHOBHBIX KOMMYHHKATHBHBIX CHTYaIHsIX
HEOUIIMAIIBHOTO W O(HUIIMATBLHOTO OOIIEHUS BaKHO YMEHHE HCIIOJIb30BaTh
HanboJiee ynoTpeOUTEIIbHBIC JICKCHKO-TPaMMaTHUECKUE CPEJICTBA MPU PA3roBOpPE

o npodeccun.

TeopeTnyeckass 4acTb
1. Identify the passive structures and the logical predicates, translate the
sentences into Russian as shown in the following example.

Example: More evidence was obtained to support the idea.
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"Evidence was obtained" is the passive structure, "more evidence ...to

support the idea" IS the logical predicate.
bpuin nmosrydeHs! HOBBIE JAHHBIE B IIOANEPKKY dTOU UICH.

The problem was first recognized in the XIX century. Later an idea was
suggested to apply it to practical things. Many possibilities for practical
applications were analysed. Some of these were tested by experiment. The
experimental results were not generally accepted, and the idea was discarded. Then
other consequences were deduced and a new model proposed. Recently the model
has been modified and is now being used in many practical situations.

Bonpocel v 3axaHus

2. Use impersonal passive structures as shown in the following example.

Example: We (the author, they, etc.) have found that... It has been found
that...

1.1 must admit that... 2.He has found that... 3.Everybody accepts that. ...... I
believe that... 5.The author hopes that... 6.Scientists sometimes say that. ... 7.Most

people assume that... 8.Physicists recognize now a days that...

3. Give English equivalents of the following Russian phrases, using
impersonal passive structures and adverbs widely, generally where required.

1.I'oBopsT, uto... 2.IIpeanonaraercs, 4to... 3.MOXHO HaAeATHCS, 4UTO...
4.CrnenmyeT mpu3HaTh, 4To... 5.bpUTO HaiineHo, 4ro... 6. OOmenpusHAHO, YTO...

7.Cuuraiot, uro... 8.IllupokopacrnpocTpaHEHOMHEHHUE, UTO...

4. Read the article using the dictionary and render it.

Eating Right And Proper Exercise Are Key For Healthy Living

Today way of life diseases are on the rise and this has necessitated the need
for healthful residing. Living a wholesome life may help stop some disorders like
coronary heart associated health conditions, cancer, diabetes, and hypertension.
Healthy residing should be the inclusion of each mental and physical healthful.

This is certainly so simply because both equally are correlated and just one are


http://bip-ip.com/eating-right-and-proper-exercise-are-key-for-healthy-living/
http://bip-ip.com/tag/health/
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unable to reach a healthy residing with no considered one of them. There are a

selection of matter that will be accomplished to achieve a healthful dwelling.

Ingesting a balanced diet is one way to attain a wholesome living. It is vital
to note that diverse age teams have distinctive diet requirement. For instance the
diet for infants might be distinctive from that of youngsters and grownups. Every
age group must be provided using the proper diet program to ensure correct growth
and performing from the system. It is additionally essential that good portions of
foods be eaten to avoid ingesting excessively. Excessive consuming can lead to
bodyweight obtain that may trigger overall health troubles.

When selecting food items for meals, a single need to incorporate additional
entire grains, more vegetable and fruits. Total grains, greens and fruits are wealthy
in fiber and that is significant permanently metabolic rate. It is suggested that one
particular eats no less than 5 servings of fruits and veggies a day to enhance
healthful dwelling. Vegetables and fruits don’t have fats or cholesterol by having
an exclusion of coconut and avocado. Fruit and veggies need to be eaten when
refreshing to ensure most usage in the vitamins. Meals using a number of sugar
really should be averted.

One more great way to achieve a healthier dwelling is by drinking ample
drinking water day-to-day. Water is very important for all sections in the human
body starting up with the pores and skin, kidney and all other overall body organs.
Consuming not less than 8 eyeglasses of water everyday may help a person realize
healthy residing and minimize probabilities of getting wellbeing complications
such as kidney stones, dried skin and swollen feet between several other troubles.
H20 also can help in metabolic process approach and eliminates poisons from your
entire body.

Training routinely encourages the wellness of somebody drastically.
Exercises boost metabolic rate, burning of surplus energy while in the human body
in addition to promote more robust bones. Physical exercises minimize threat of 1

getting heart assault since it participate in a task in cutting down the level of


http://bip-ip.com/tag/skin/
http://bip-ip.com/tag/skin/

.
cholesterol. By exercise routines, the muscle groups of your coronary heart are

strengthened; this improves the operation of the heart and great blood circulation.

Physical exercises may help 1 attain self-esteem since they empower a single
lose weight and obtain desirable body dimension. The mind also rewards a lot from
work outs since it allows the brain to acquire large focus. Depression is often
diminished by accomplishing training for the reason that whenever we do
workouts, some hormones are manufactured to produce us feel good. This
hormone known as endorphins.

Last but not the very least, one must rest as piece of the healthful living plan.
Devoid of good enough relaxation a person might be in danger to obtain health
challenges. A relaxation of seven to eight hrs on a daily basis is required for the
very good balanced. This allows the body to restore electricity for use over the
upcoming day. Adequate relaxation also boosts the immune system in the system
for this reason can battle diseases effortlessly. It promotes one’s concentration,

considering and memorizing things.

UNIT 2
Hean:
1. OBnanets MPaKTUYECKUMHU HaBbIKAMH MIOCTPOCHUS MPOCTHIX
MIOBECTBOBATEIbHBIX  NPEJI0KEHUM,  MOBEIUTEIbHBIX  HAKIOHEHUM,

OPUTSKATEIBHBIX M YKa3aTeJIbHBIX MECTOMMEHUMN (HAaXOIUTh UX B TEKCTE,
YMETh MEPEBOJUTH HA PYCCKUH A3BIK).

2. Pa3BUTh HaBBIKM YTCHHS, MOWCKA WH(GOpPMAIMM B KAaueCTBE OTBETOB Ha
BOTIPOCHI 00 WHKEHEPHBIX MPOPECCUAX HA AHTITHIUCKOM SI3BIKE.

3. OBnazeTh HABBIKOM KPaTKOTO TMepecKka3a MpOYNTAaHHOTO MaTepuaa.
3HaHUS M yMeHHs, NpUoOpeTaeMble CTyJAeHTAMH B pe3yJbTaTe OCBOeE-

HHS JaHHOH TeMbl, (opMHpyeMble KOMIIETCHIUM:

- pabota co cloBaps MM M CIPABOYHUKAMH, HCHOJb30BAaHUE ayAauo- U

BHUjAco3anucen; MurepHera;
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- OTBETHl Ha KOHTPOJIbHBIE BOMPOCHI; aHAJIUTHYECKass 00pabOTKa TEKCTa
(peepupoBanue, aHanu3); MOATOTOBKA COOOIIEHUN K BBICTYIUICHUIO Ha

CEeMHHAPE;

- BBIIOJHEHUE yNpaXHEHUH 1o oOpaslly; pEelIeHHEe BapUAHTHBIX

YIPaXHEHUM.
®dopmupyembie komneTeHun: YK-4.

AKTyaJ'II:HOCTb TEMbI: B OCHOBHBIX KOMMYHHKATUBHBIX CHTYyalUsAX
HCO(I)I/IL[I/IaJIBHOI‘O 151 Oq)HI_[HaJ'IBHOFO 06IJ_[€HI/I$I BAXKXHO YMCHHUC UCIIOJIB30BATH
HauoOoJiee YHOTpe6I/ITeJIBHBIC JICKCUKO-TPaAMMATHYCCKUC CPCACTBA IIPU Pa3roBOPC

o npodeccun.

TeopeTnueckast yacTb

1. ldentify the predicate and give Russian equivalent as shown in the
following example.

Example: Later on scientists accepted the hypothesis rejected previously for
want of experimental evidence. "Accepted" is the predicate; scientists accepted —
yueHsle npunsig; the hypothesis rejected —orBepruyras rumoresa.

1. The method applied increased the accuracy of the results. 2. After a heated
discussion the laboratory applied the method improved by Dr. N. 3.The scientist
theoretically predicted complicated interaction between the components involved
In the process. 4. At that time the problem presented increased danger of
radioactive contamination and encountered opposition at most laboratories
concerned. 5. The hypothesis concerned synthesized materials and did not apply to
natural products. 6. Heat resistant materials developed in the last decade produced
a revolution in a number of industries. Automatized information processing
radically modified the method devised. 7. The crystal produced revealed cracked
faces.

BOIIpOC bl 1 3aJaHUA
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2. Give Russian equivalents of the sentence.

A. 1.The conference attended by scientists from different countries discussed
new trends and methods in this field of research. 2. One of the rights enjoyed by
University scientists is that of combining research with teaching. 3. The discovery
followed by further experimental work stimulated research in this area.

B. 1.The heads of the laboratories were asked questions formulated and
agreed upon by a group of sociologists. 2. The scientist's eloquence substituted for
logical argumentation in defending an “extreme"™ viewpoint failed to win the
audience over. 3. The mixture allowed to stay overnight gradually decomposed. 4.

The subjects dealt with under this topic aroused a heated discussion.

3. Give English equivalents of the sentences, using passive structures
and the verbs: to affect, to allow, to attend, to develop, to deal with, to face, to
follow, to make use of, to refer to.

1. 3a goxmamom mocnenoBana OypHast auckyccus. 2. Ha ckopocTh peakuuu
BIUSECT MHOXECTBO Jpyrux (HakTopoB. 3. DTOT BOIpoc OyAeT MNOAPOOHO
paccmotpen B rnase |ll. 4. Ha »toif cTagum Mbl CTOJKHYJIMCH C HOBBIMHU
TpyaHocTaMHu. 5. EmMy He gamu BO3MOKHOCTM 3aKOHYUTH 3Ty paboty. 6. B
NoclieTHEE BpeMsl 3Ta TEOpHUs YacTO YIOMHHAETCS BO MHOTHX CTaThsiX. /.
CemuHap, Ha KOTOPOM IMPHUCYTCTBOBAJIO BCErO0 S YEIOBEK, MPOIIEN BSUIO U
HeuHTepecHo. 8. [l Toro 4ToOBI MPEONOJETh 3TU HEAOCTATKH, HCIOJIb30BAIH

HOBYIO MCTOIUKY, CIICHHUAJIIBHO pa3pa60TaHHyfo I AAHHOI'O SKCIICPHUMCHTA.

4. Translate from Russian into English.

1. Tlpobrmema Owima BmepBbie mocTaBieHa (oco3Hana) B XVIII Beke. 2.
[Ipeanonaraercs, YTO TOJYYEHHbIE pACUYETHbIC JaHHbIE OBUIM MPOBEPEHBI
skcriepuMeHTanbHO. 3. Teopust Oblma mpuHSTA OOJBITMHCTBOM YYCHBIX IIOCIHE
TOT0, Kak OBLIN MOJYy4YeHBI HOBBIC JOKA3aTEIbCTBA B €€ MOMAECPKKY. 4. (B craTthe)
MPECTaBICHbI HOBBIE JaHHBIE OTHOCUTEIILHO MEXaHM3Ma 3TOro mpoiiecca. 5. ITo

pPacxoXaeHUE MOKHO OOBSICHUTH pa3HBIMH METOUKaMu u3mepeHus. 6. (B padore)
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MCIIOJIb30BaH HOBBIM METOJl pacuera 3TOro MnapameTpa M MpejIoKeHa HOBas
Mozenb mpouecca. 7. Ocoboe BHUMaHUE YAEIEHO CPABHEHUIO HKCIIEPUMEHTAIBHO

IMOJYUYCHHBIX PE3YJILTATOB C PE3YyJIbTaTaMHU, IMPCACKA3aHHBIMU TCOPCTHUUCCKU.

5. Read the article using the dictionary and render it.

Here Are Some Top Healthy Living Tips

Balanced dwelling ideas are critical for all persons as a way to assure a
vigorous nation. People today need to have a superb knowledge of these tips as a
way to ensure that turn out to be sturdy. Certainly one of the following tips is
drinking some h2o each individual day during the early morning. Plenty of oxygen
Is made use of through the morning during the rejuvenation of body cells. These
cells have to be supplied with h20 and oxygen each and every early morning.
Drinking water each and every day during the morning lowers the feeling of
tiredness. Although many individuals don’t like the style of water, squeezing some
fresh lime into your glass of drinking water may also help to present it an even
better flavor. In this particular link, water is crucial for the vigorous expansion of
your overall body.

Intake of refreshing fruits is yet another healthful living hint. Unique fruits
supply your body with unique nutrients. This means that it can be superior to just
take differing types of fruits each individual time so that you can get each of the
demanded vitamins and minerals. What’s more, fruits could also be handy for
individuals even though you can find no lunch. In these cases, a few fruits can
assist to be certain robust well being. Furthermore, fruits supply your body with
the sugars which can be needed for robust health and fitness. During this
connection, fruit usage is vital for robust wellness.

One more suggestion that helps in living a wholesome lifestyle is
minimizing the use of junk foodstuff. Food items this sort of as burgers and French
fries may well have an impact on the good well being from the body simply

because they grow system fat. A nice salad can help to boost strong body wellness.


http://bip-ip.com/here-are-some-top-healthy-living-tips/
http://bip-ip.com/tag/health/
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Furthermore, any other wholesome food items that matches person meal selection

may help to enhance human body strength. It can be good to reduce junk foods
since they feed the body with pointless calories which can have effects on human
wellness by rising human body extra fat. In this connection, it truly is valuable to
restrict the consumption of junk food as a way to assure powerful wellness.

Training is an additional idea for healthful living. It’s much more proper to
exercise within the morning as a way to lose the unwanted vitality. Other workouts
this kind of as walking and jogging up and down the stairs at unique periods will
help to increase human body health and fitness. This is because, workout routines
make the muscle mass to move and allow the blood to flow to all the areas on the
body. Moreover, consuming natural tea can aid to extend entire body well being.
This means that consuming natural tea allows to guarantee solid overall body
health and fitness.

Another suggestion that aids persons to enhance body power is the use of
contemporary juices. New juices are much better than the packaged ones since the
refreshing juices have an abundance of fresh new vitamins. The intake of
contemporary juice will increase entire body electricity, healthy and enhancement.
It really is fantastic to receive a while to squeeze juice from fruits this sort of as
ginger and apples in order to assure that the juice consumed in anyway situations is
fresh new. Deep breathing can assistance to reinforce powerful health and fitness.
This allows during the exchange of carbon dioxide and oxygen in an effort to
improve human body energy. On this link, the following tips are vital to all people

as they boost balanced living.

UNIT 3
Henn:
1. OBnaneth MIPaKTHYCCKUMU HaBBIKAMU MIOCTPOCHUSI MPOCTHIX
ITOBCCTBOBATCJIIBbHBIX HpGI[J'IO)K@HPIfI, ITOBCJIINTCIIBHBIX HaKHOHeHHﬁ,
MNPUTANKATCIIBHBIX M YKAa3aTCJIbHBIX MECTOUMEHUI (HaXOI[I/ITB X B TEKCTC,

YMETh MEPEBOJUTh HA PYCCKUH SA3BIK).
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2. Pa3BUTL HaBBIKU YTCHUs, IIOMCKa I/IH(i)OpMaI_[I/II/I B Ka4y€CTBC OTBCTOB Ha

BONPOCHI 00 MHKEHEPHBIX MPOPECCUAX HA AHTJIMICKOM SI3BIKE.

3. OBnajeTh HaBBIKOM KpPaTKOTI'0 IepecKa3a MPOYUTAaHHOIO MaTepuasa.

3HaHus M yMeHHs, NpUoOpeTaemMble CTYJACHTAMH B pe3yJibTaTe OCBOE-

HHUSA JAHHOH TeMbl, (opMHUpyeMBbIe KOMIIETCHIUM:

- pabota co cloBapsMH U CIPABOYHHUKAMH; HCIOJB30BAHHE ayAHO- H

Buaco3anucen; Murepnera;

- OTBETHl Ha KOHTPOJIbHBIC BOIPOCHI, aHaIUTUUYECKass O0OpaboOTKa TeKCTa
(pedepupoBanue, aHaau3); MOATOTOBKA COOOLIEHWH K BBICTYIUICHHIO Ha

CECMUHAPC,

- BBIMIOJHEHUE yNpaXHEHWH 10 oOpasily; pelleHHe BapUAHTHBIX

YIPaXHEHUM.
®dopmupyeMbie komrereHun: Y K-4.

AKTyaHbHOCTB TEMbI: B OCHOBHBIX KOMMYHHKATHUBHBIX CHTYyalUAX

H@O(l)I/IHI/IaJIBHOFO 141 O(bI/IHI/IaJ'IBHOI"O 06H.I€HI/ISI BaXXHO YMCHHUC HCIIOJIb30BATh

HauboJee ynoTpeOuTeNIbHbIC JIEKCUKO-TPaMMaTHUYECKHE CPEACTBA MPU Pa3rOBOpPE

o npodeccumu.

TeopeTnueckas 4yacTb

1. Give Russian equivalents of the relevant part of the sentence (v ing

forms) as shown in the following example.

Example: Noticing relationships in this observations, the scientist attempts

to classify and explain them.

Noticing... the scientists attempts... 3amMeTHB... y4eHBIH MBITACTCA. ...

Noticing relationship in his observations is very important for every

scientist.

Noticing... is important... 3amMe4arsp... BaXKHO...
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1. Establishing relationship between the phenomena of the Universe is a

major task of theory. 2. Realizing the necessity for a different approach the
physicists reluctantly abandoned the project. 3. Confining his attention to one
problem the scientist will surely achieve its solution much sooner. 4. Putting the
discovery to use sometimes requires more effort than making it. 5. Pointing out
their mistakes to some people is often quite difficult.

Bonpocel v 3axaHus

2. Give Russian equivalents of the relevant part of the sentence.

1. If you never thought of asking a question you are not interested in having
the answer. 2. If you want to succeed in interesting the audience you should not try
surprising them with an isolated fact. 3. By having defined one's research objective
one has already made the first, and the most important, step towards the final
success. 4. Modern chemistry is primarily concerned with building structural bonds
between the elemetns of matter. 5. Many useless experiments were prevented from
being made by an adequate theory. 6. A true scientist is interested in being told
about his mistakes. 7. Research is searching without knowing what your are going
to find. 8. Any single card should contain notes from only one source. This will aid
in arranging and organizing the materials for your research paper. 9. We do not
know how to solve the problem of interesting schoolchildren in science. 10. His
research resulted in establishing a new mechanism of the process. 11. The accuracy
of the instrument while being inferior to that of others is satisfactory for many

industrial applications.

3. Read the article using the dictionary and render it.

Bumblebee project may help reverse UK decline
A bumblebee species that had become extinct in Britain will get a second
chance on Monday when a new generation of queens is released in the south-east

of England.
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In rare piece of good news for the blighted insects, which have suffered a 32

per cent decline across all UK species, experts spent two weeks collecting short-
haired bumblebees from farmland in southern Sweden, where numbers are rising.
Today they will be reintroduced to an RSPB reserve at Dungeness in Kent.

The project began last year with a pilot re-introduction following four years
of work with farmers to create the ideal wildflower habitat across Romney Marsh
and Dungeness.

Conservationists hope all of the UK’s bumblebees may soon benefit from
similar projects. Of the 25 native species, seven are declining and two are extinct.

The last reported sighting of the short-haired bumblebee was in 1988.
Britain has also lost 97 per cent of its wild flower meadows over the past 70 years

due to increasing urbanisation and agricultural intensification.

UNIT 4

Henn:

1. OBnanetp PaKTHYECKUMHU HaBbIKaMU MTOCTPOCHHUS MIPOCTHIX
NOBECTBOBATEIbHBIX  NPEIJIOKEHUNM,  MOBEIUTEIbHBIX  HAKIOHEHMWIA,
NPUTSKATEIBHBIX U YKa3aTEJIbHBIX MECTOMMEHUMN (HAXOIUTh UX B TEKCTE,
YMETh MEPEBOJUTH HA PYCCKUH A3BIK).

2. Pa3BUTh HaBBIKM YTEHHS, MOUCKA WH(GOpPMAIMM B KAaueCcTBE OTBETOB Ha
BOTIPOCHI 00 WHKEHEPHBIX MPOPECCUAX HA AHTITHIUCKOM SI3BIKE.

3. OBnazeTh HABBIKOM KPaTKOTO Mepecka3a MpOYUTAaHHOTO MaTepuaa.
3HaHUS M yMeHHs, NpUoOpeTaeMble CTyJAeHTAMH B pe3yJibTaTe OCBOeE-

HHS JAHHOH TeMbl, (opMHpyeMble KOMIIETCHIUN:
- pabota coO cloBapsSMH W CIPABOYHHUKAMH; HCIOJIB30BAHHE ayAHO- H

BHUAco3anucen; Murepnera;

- OTBEThl Ha KOHTPOJIbHBIE BOMPOCHI; aHATUTHYECKas 00paboTKa TEeKCTa
(pedepupoBanue, aHaiW3); MOJATOTOBKA COOOIIEHUN K BBICTYIUICHUIO Ha

CEMUHApE;
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- BBINOJHEHUE YIOpaXHEHWH 1o o0pa3lly; peuieHue BapHAHTHBIX

YIPaXHEHUM.
®opmupyembie komneTeHun: YK-4.

AKTYaJIbHOCTb Te€MbI: B OCHOBHBIX KOMMYHHMKATHUBHBIX CHTYaIUsIX
HEOUIIMAIBHOTO W O(UIMAIBLHOTO OOIIEHUS BaXHO YMEHHE HCIOJIb30BaTh
HanboJiee ynoTpeOUTENIbHBIC JEKCUKO-TPaMMaTUYECKUE CPEJICTBA MPU Pa3roBOpPE

o npodeccumu.

TeopeTnyeckas yacTb

1. A. Identify the structures and give Russian equivalents of the relevant
part of the sentence(v ing forms).

1. It is correct to say that basic research is directed toward understanding the
foundations of nature without taking into account their practical applicability. 2.
Finding an adequate solution to this most urgent technological problem will surely
require making more effort. 3. Today we cannot help witnessing a tendency in
science to direct the collective efforts of a research team at the achievement of a
common goal. 4. Let's proceed by dividing research into three stages and
examining each stage to find what functions of the research process may be
automated without endangering creativity. 5. Such a configuration, in addition to
being amenable to analytical treatment, has significant practical importance. 6.
Being interested in the subject which you ate studying is the best motivation for
learning it. 7. Fundamental research is that which you undertake without caring
whether the results will be of practical value or not. 8. The scientist and public
must equally share the responsibility for finding a desirable solution to many
modern technological and social problems. 9 .In determining the mechanism of
genetic information transmission biochemists have observed that "the language of
life" is really a simple and elegant code. 10. Taking into account individual
components resulted in a radical change of the entire system. 11. One of the ways

to solve the problem of feeding the ever-growing world population is by turning
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fishing from a hunting to a farming operation. 12. Several review committees were

formed, including a special environmental group. 13. Increasing the amount of
available technical information scientists also contribute to transformation of some
well-rooted beliefs.

B. Give English equivalents of the sentences, using the verbs given
below.

1. PyKOBOI[I/ITeJIB pa6OTBI BCCraa HaACTaWBAJI HA IIPOBCPKEC IMOJTYUYCHHBIX
pe3ynbTaToB. 2. Takas mpoBepka UMela 1EeJbI0 UCKIIOUNUTh CydailHbIe OIIMOKU U
moMorJjia mnOJYYUTb HAACKHBIC IHTAaHHBIC. 3. HpI/IcyTCTBI/Ie npuMecCn B 06p3311ax
IMOMCHIAJIO ITOJIYYUTh BOCIIPOU3BOAUMBIC PE3YJILTATHI. 4. Ka>1<z[0e HOBOC OTKPBITHUC
IMPUBOJAHUT K BO3HHKHOBCHHUIO HOBBIX oOnacren HCCIICAOBAHUS. 5. KOpCHHLIC
U3MEHCHHUS B Takou TPaIUITUOHHO BKCHepHMeHTaHBHOﬁ HAaYyKC, KaK XHUMHU,
SABUJINCH PE3yJbTATOM IIPUMEHEHUS B HEW KBAaHTOBOM Teopuu. 6. Uepe3 HECKOIBKO
JIET YUCHOMY YAaJI0Ch IMOJIYYUTDb SKCIICPUMCHTAJIIBHBIC PE3YJIbTATHI,
IMOATBCPKAAOIIUC JOTY TCOPHUIO. 7. VYdyeHble MHOTHX CTpaH 3aHUMAKTCA
N3YUYCHHUCM I3TOI'O SABJICHUA U JOJIXKHBI B paBHOfI MCPC HECTH OTBCTCTBCHHOCTL 34
IMPUMCHCHUC CI'O BO3MOKHBIX PC3YJIbTATOB HA ITPAKTHUKCE.

to aid in; to aim at; to be concerned with; to share the responsibility for; to
insist on; to prevent from; to result from; to result in; to succeed in.

Bonpocekl u 3axanus

2. Read the text and be ready for a comprehension check up.
THE EXPERIMENT MUST MAKE A DIFFERENCE

When we do an experiment, we do it because we don't know what the result
will be. If we knew in advance we wouldn't bother. There must be two, or several,
or a large number of possibilities. We may expect one of several outcomes, or we
may not know at all what to expect.

In order for the experiment, whatever its purpose, to be considered a test of
some theory, the outcome must make a difference. If the experiment has one result,

we must be led to a greater degree of confidence in our theory, if it has another
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result we must be led to a greater degree of doubt. If the degree of our belief was

unaffected by the result the experiment cannot be said to have been a test, although

it may have been valuable or interesting for other reasons.

3. Answer the questions on the text:

1. Find the hypothetical statement concerned with the result of an
experiment 2. What are the statements made about the outcome of an experiment?
What is necessary for the experiment to be considered a test of some theory? 4.

What are possible results of an experiment?

UNIT 5

Hean:

1. OBnanets MPaKTHUYCCKUMHU HaBBIKAMU MTOCTPOCHHUS MPOCTHIX
NOBECTBOBATEIbHBIX  NPEIJIOKEHUNM,  MOBEIUTEIbHBIX  HAKIOHEHMWIA,
NPUTSIKATENTBHBIX U YKA3aTeJbHBIX MECTOMMEHUN (HaXOIUTh UX B TEKCTE,
YMETh MEPEBOUTH HA PYCCKUH A3BIK).

2. Pa3BUTh HaBBIKM YTEHHs, MOMCKAa HHGOpMAIMM B KayecTBE OTBETOB Ha
BOITPOCHI 00 WHKEHEPHBIX MPOdECCUIX Ha AaHTJIUHCKOM SI3BIKE.

3. OBnazeTh HaBBIKOM KPATKOTO TIEpecKa3a MPOUYUTAaHHOTO MaTepuaa.
3HaHUS ¥ yMeHHs, NpUodpeTaeMble CTyJAeHTAMH B pe3yJibTaTe OCBOeE-

HHS JAHHOH TeMbl, (opMHUpyeMble KOMIIETCHIUN:
- pabota co cloBapsSMH U CIPABOYHHUKAMH; HCIOJIB30BAHHE ayAHO- H

BHUAco3anucen; Murepuera;

- OTBEThl Ha KOHTPOJIbHBIE BOMPOCHI, aHAJIUTHYECKas 00paboOTKa TeKcTa
(pepepupoBanme, aHanmM3); MOATOTOBKA COOOIIEHWH K BBICTYINICHHIO Ha

CEMHHApE;

- BBIIOJIHEHHWE YOpaXHEHUW 1o oOpasly; pelleHHe BapUaHTHBIX

YIPaXHECHUM.

®opmupyembie komneTeHuu: YK-4.
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AKTYaJIbHOCTb Te€MbI: B OCHOBHBIX KOMMYHHMKATHUBHBIX CHTYaIUsIX
HeoDUIMANTBHOTO W OQUIMAIBHOTO OOIIEHUS] Ba)XHO YMEHHUE HCIOIb30BaTh
HauOosee ynoTpeOUTeNbHbIE JTEKCUKO-TPAaMMATHUYECKUE CPEICTBA IPU Pa3roBOpe

o npodeccun.

TeopeTnyeckas yacTb

1. Compare the sentences and give Russian equivalents of the relevant
part of the sentence(v ing forms).

1. a) Success in science often results from confining attention to one
problem for many years; b) Success in science often results from the scientist's
confining his attention to one problem for many years; c) Success in science often
results from the scientist confining his attention to one problem for many years. 2.
a) A brain-storming session consists in proposing as many ideas as possible; b) A
brain-storming session consists in everybody's proposing as many ideas as
possible; ¢) A brain-storming session consists in everybody proposing as many
ideas as possible. 3. a) Criticizing ideas while inventing them is no good; b)
Scientists' criticizing their ideas while inventing them is no good; c¢) Scientists
criticizing their ideas while inventing them is no good.

Bonpocekl v 3axanus

2. A. ldentify the structures (single infinitive) and give Russian
equivalents of the relevant part of the sentence.

1. To make a choice between these two alternatives is not an easy task. 2. To
be on the safe side, take special care of the accuracy of the calculation. 3. To
foresee what the future will be like requires analysis of the past experience. 4. To
tell the truth, the results have no direct bearing on the problem under investigation.
5. To argue about it is not fruitful at the moment. 6. To establish cause-effect
relationship between smoking and some diseases, extensive research is being
carried on at several research centers. 7. To sum up, synthetic problems are studied

for the possibilities which they hold for practical applications. 8. To put it another
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way, the experimental procedure must suit the purpose of the experiment. 9. To be

able to forecast the future, we must begin by a thorough analysis of the past course
of events.

B. Give English equivalents of the sentences.

1. nst Toro 4toOBl COOTBETCTBOBATH 1€ AKCIEPUMEHTA, METOH JIOHKEH
OBITD ITPOCT. 2. YCcTaHOBUTH IMPUYHUHHO-CJICACTBCHHLIC OTHOIICHWA 9aCTO O3HAYACT
pemnth podiemy. 3. [lpenBuners Oyayiiee HEBO3MOXKHO 0€3 aHallu3a NPOILIOTO.
4. T'oBopst IO TIpaB/Ee, BCE OKUIAIA COBEPIICHHO APYTUX pe3yiabTraToB. 5. CaenaTh
BBI60p yacTo OBIBAa€T CaMbIM TPYAHBIM. 6. UtoOBl HE PUCKOBAThb, IPOBCPHTC
anmnaparypy nepea dKCIIEpUMEHTOM €1le pas.

3. Read the second fragment of the text (the first fragment is in Unit 4)
and be ready for a comprehension checkup.

REFUTABILITY

For a theory to be part of science we must be able to imagine the possibility
that some kind of evidence, if it were available, would lead us to make us doubt the
theory. It has been said that for a theory to be scientific, it must be refutable.

Nobody needs to be told that theories should be confirmable, in the sense
that new experiments must be able to increase our confidence in them - we all take
it for granted. We do need to be reminded from time to time: that we might be
wrong, and should be open to evidence that might show it. Confirmability and
refutability are two sides of a single coin. New facts should be able to change our
degree of belief one way or another. Only if this is so is our belief scientific.

There are often reasonable alternative explanations why a good theory will
fail in some particular circumstances, and even when there aren't, if we think the
theory is better than any alternative available we will stick with it and try to find

special explanations of why it didn't work in these circumstances.

4. Answer the questions on the text:
1. Whal is the opposite of "refutable"? 2. What does it mean "to be

confirmable?" 3. What is the opposite of "doubt"? 4. What is necessary to be
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reminded? 5. Whal is the tendency with a theory? 6. What is the tendency in our

altitude to theory?

UNIT 6
Hean:
1. OBnangeTs MPAKTUYECKUMHU HaBBIKAMM MOCTPOEHUS MPOCTHIX
MOBECTBOBATEIbHBIX  NPEJI0KEHUW,  MOBEJIUTEIbHBIX  HAKJIOHEHHUM,

NPUTSKATENBHBIX U YKa3aTeJbHBIX MECTOMMEHUN (HaXOIUTh UX B TEKCTE,
YMETh MEePEBOJUThH HA PYCCKUH S3BIK).

Pa3BuTh HaBBIKM YTEHHUs, MOUCKAa HH(OpPMALMM B KadyecTBE OTBETOB Ha
BOMPOCHI 00 WHKEHEPHBIX MPOPECCUAX HA AHTTTUICKOM SI3BIKE.

OBnajieTh HaBBIKOM KPAaTKOT'O NIEPECKA3a MPOYUTAHHOTO MaTepuaa.

3HaHMS U yMeHUsl, MpuodpeTaeMble CTyJIeHTAMHU B pe3yJbTaTe OCBOE-

HUA TaHHOM TeMbl, GopMHUpPyeMble KOMIICTCHIIUH:

- pa60Ta CO CJIOBapssMu M CIIpaBOYHHUKAMH, HCIIOJIB30BAHHUC ayIHUO- H

BHuAco3anucen; Murepnera;

- OTBETHl Ha KOHTPOJIbHBIC BOMPOCHI; aHATUTHYECKass 00pabOTKa TEeKCTa
(pedepupoBanue, aHaau3); MOATOTOBKA COOOIIEHUN K BBICTYIUICHHIO Ha

CEMUHApE;

- BBIMIOJHEHWE yNpaXHEHWH 10 o0O0pasily; pelIieHne BapUaAHTHBIX

YIPaXHECHUM.
dopmupyeMbie komrereHiun: Y K-4.

AKTyaJ'lI)HOCTI) TE€MbI: B OCHOBHbIX KOMMYHHKATUBHBIX CHTYyalUAX

HeO(bI/II_[I/IaJ'IBHOFO n O(l)I/II_[I/IaJ'II)HOFO 06H_IGHI/I$I BaXXHO YMCHHUC HCIIOJIb30BaATh

HanOoJiee ynoTpeOUTEIIbHBIC JIEKCHKO-TPAaMMAaTHYECKUE CPEJICTBA MPU PA3roBOPE

o mpodeccum.

TeopeaneCKaﬂ HacTb
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1. ldentify the structures and give Russian equivalents of the relevant
part of the sentence.

1. The analysis has been extended (so as) to take into consideration the
unavoidable by-effects. 2. Under this assumption the equation is reduced to yield a
classical relation. 3. We do not expect to solve all these problems by the turn of the
century. 4. At this stage a new theory was advanced, to produce a revolutionary
change in our understanding of the process. 5. They claim to have accounted for
the effect observed. 6. He admits to have made a similar mistake in his earlier
publication. 7. He was sorry to have occupied himself with the problem for so
long, and not to have given it up earlier. 8. They admit lo have been informed of
this possibility before the experiment. 9. Mark Twain allegedly remarked once that
a classic is something which nobody wants to read but everybody wants to have
read. 10. To write with precision, it is necessary to have thought logically first. 11.
The aim was to discuss the impact of scientific activity on technology. 12. If we
are to achieve the aim we must confine our attention to one point only. 13. Perhaps
the greatest problem at present is to get some understanding of the remarkable
phenomenon of memory. 14. The original idea was to take advantage of the high
temperature of the process.

Bonpocekl u 3axanus

2. Give English equivalents of the sentences.

1. Ecu MBI XOTHUM JTOOUTBHCS [EJIH, MBI JOJKHBI IPUHATH BO BHUMAHHE BCE
UCTOYHUKU OMMOOK. 2. [{enp 3Tol KHUTH - AaTh 0030p MOCIEIHUX JOCTHKCHUHN B
sToM oOJlacth wuccienoBaHusa. 3. Hamra 3agaya 3akmrodaeTcss B TOM, YTOOBI
o0ecreuuTh yclaoBusi, Haubomee OmaronpustHeie ns padboTsl. 4. Camoe BaKHOE -
3TO COCPEAOTOYNTH BHUMAHKE HAa OJHOM Borpoce. 5. Ham mpeacTouT moakpenuThb
9Ty MHTEPHPETAIMI0 HOBBIMU SKCIEPUMCHTAIBHBIMM JaHHBIMH. 6. 3amada
CEMHHAPCKUX OOCYXACHUN 3aKiIiodaeTcsl B TOM, 4YTOOBI TIpeayiaratb HOBBIC
AKCTICPHUMEHTHI.

3. Translate into English.

1 TlpenmonoxeHue ObIIO CIUIIKOM HEOXKHUIAHHBIM, YTOOBI €T0 MOKHO OBLIO
MPUHATH 0€3 JoKa3aTeabCTB. 2. Vien cnuukoM onepexaroT CBOE BpeMsl, YTOObI UX
MOXXHO OBLIO cpa3y K€ MPUHATH. 3. APryMEHTHI MPEICTaBISIOTCS TOCTATOYHO
pPa3yMHBIMH, 4TOO0 M3MEHHUTH XOJ 0OcyxneHusi. 4 JlaHHbIX OBLIO HEAOCTATOYHO,
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9YTOOBl BHECTU SICHOCTh B 3Ty MpolsieMy. 5. DTO MpEAJIOKEHHE HE TaK Ba)HO,
YTOOBI €r0 pacCMaTpUBATh Ha CETOAHSAUIHEM 3acefaHuu. 6. DTOT (GaKTOP CIMILKOM
Ba)K€H, YTOOBI HE MPHUHATH €r0 BO BHUMaHue. 7. Eciu Mbl XOTUM JOOMTHCS LIENH,
MBI JIOJKHBI YY€CTh Takxke (pakTop BpemeHH. 8. Llenab KHUTH 3aKitoyaeTcs B TOM,
4YTOOBl MPEACTAaBUTh BCE JIOBOJABI B MOJIb3y 3TUX HcciaedoBaHuil. 9. Orta unes
JIOCTaTOYHO O4YEBUAHA M cama coOoi Hampammbaetcs. 10. M3BnexaTh ypoku u3
MPOILJIOTO OIbITa HE TaK IPOCTO, KaKk 3TO MOXeT mokaszaTbes. 11. On Obua
JOCTaTOYHO CWJIBHOW JIMYHOCTBIO, YTOOBI MPEOJ0JIETh COMPOTUBICHUE CBOMX
koster. 12. YtoObl MO JTOCTOMHCTBY OLIEHUTh 3HAYEHUE ATOT0 HKCIIEPUMEHTA,
HEOOXOJIMMO CpPaBHUTh €ro C OCTalbHBIMM paboTamu B 3Tod obOsactu. 13.
N36exaTh omnOOK, Kak MpaBujo, OYEHb TPYAHO.

4. Read the text without consulting the dictionary, divide the text into
three parts and suggest a title for each part. Translate the text into English.

Research: Fundamental and Applied

People are always talking about fundamental research, implying thereby the
existence of a nameless opposite. A good definition of fundamental research will
certainly be welcomed: let us see whether we can invent one. We have to begin, of
course, by defining research. Unfortunately the concept of research contains a
negative element. Research is searching without knowing what you are going to
find: if you know what you are going to find you have already found it, and your
activity is not research. Now, since the outcome of your research is unknown, how
can you know whether it will be fundamental. We may say for instance that
fundamental research is that which you undertake without caring whether the
results will be of practical value or not may not be reasonable to go further and say
that fundamental research is that which will be abandoned as soon as it shows a
sign of leading to results of practical value. By saying this you may limit your own
achievement. It will be better to say that fundamental research is that which may
have no immediate practical value. There have been several viewpoints about
theory. One is that theory discerns the underlying simplicity of the universe. The
non-theorist sees a confused mass of phenomena; when he becomes a theorist they
fuse into a simple and dignified structure. But some contemporary theories are so
intricate that an increasing number of people prefer dealing with the confusion of
the phenomena than with the confusion of theory. A different idea suggests that
theory enables one to calculate the result of an experiment in a shorter lime than it
takes to perform the experiment. | do not think that the definition is very pleasing
to the theorists, for some problems are obviously solved more quickly by
experimenters than by theorists. Another viewpoint is that theory serves to suggest



23

new experiments. This is sound, but it makes the theorist the hand man of the
expenmentator, and he maybe does not like this auxiliary role.

UNIT 7
Hean:
1. OBnangeTs MPAKTUYECKUMU HaBBIKAMM MOCTPOEHUS MPOCTHIX
MOBECTBOBATEIbHBIX  NPEJI0XKEHUW,  TMOBEJIUTEIbHBIX  HAKIOHEHHUM,

NPUTSKATENBHBIX U YKa3aTeJIbHBIX MECTOMMEHUN (HaXOIUTh UX B TEKCTE,
YMETh MEePEBOJUTH HA PYCCKUH S3BIK).

2. Pa3BUTh HaBBIKM YTEHHs, MOMCKAa HHGOpMAIMM B KayecTBE OTBETOB Ha
BOMPOCHI 00 MHKEHEPHBIX MPOPECCUAX HA AHTITUICKOM SI3BIKE.

3. OBnazeTh HABBIKOM KPaTKOTO Mepecka3a MpOYUTaHHOTO MaTepuaa.
3HaHUS M yMeHHs, NpUodpeTaeMble CTyJAeHTAMH B pe3yJibTaTe OCBOeE-

HUA TaHHOM TeMbl, GopMHUpPYyeMble KOMIICTCHIIUH:

- pabota co cloBapsAMH U CIPABOYHHUKAMU; HCIOJIb30BAHHE ayAHO- HU

BHuAco3anucen; Murepnera;

- OTBETHl Ha KOHTPOJIbHBIC BOMPOCHI; aHATUTHYECKass 00pabOTKa TEeKCTa
(pedepupoBanme, aHaau3); MOATOTOBKA COOOIIEHUN K BBICTYIUICHHIO Ha

CEMUHApE;

- BBIMIOJHEHWE yMNpaXHEHWH 1O oO0pasiy; pelieHne BapUaHTHBIX

YIPaXHECHUM.
®dopmupyeMbie komrereHun: Y K-4.

AKTYaJIbHOCTh TeMbI: B OCHOBHBIX KOMMYHHMKATHBHBIX CHUTyalHsIX
HEOPUITMATHHOTO W OQUIIMATHLHOTO OOIICHUS BaXXHO YMEHHUE HCIOJIb30BaTh
HamboJee ynoTpeOuTENbHBIC JICKCUKO-TPAMMATHYECKUE CPEACTBA MPU Pa3TOBOPE

o npodeccun.

TeopeaneCKaﬂ qacTb
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1. Identify the structures (infinitive constructions) and give Russian
equivalents of the relevant part of the sentence.

1. One can assume this to be self-evident. 2. One can expect the scope of research
to expand steadily. 3. Most people believe the amount of effort in Nowadays we
see many new areas of research come into being as a result of unexpected break-
throughs. 4. The present-day situation forces more and more countries to start
contributing to this field of research. 5. An efficient laboratory head always knows
how to gel his people to do their work properly and on time. 6. If one is really
interested in science, one does not like any problem, however difficult, to be left
unsolved. 7. One of the major problems at present for a university is to have young
people interested in long-range problems. 8. Assuming this to have direct bearing
on the future of man, the author goes into a detailed analysis of the present status
of science and scientists in advanced countries. 9. The author's major concern is to
make the reader realize the full implications of genetic engineering. 10. He
achieves his aim by having the reader follow his story of this new area of research
from its early days up to now.

Bonpocekl u 3axanus

2. Learn to distinguish between indefinite and perfect infinitives.
Translate the sentences into Russian.

1. The history of the last 30 years shows him to have done very well 2. We know
him to have established a school of his own. 3. We know him to have objected to
this style of research on previous occasions. 4. They considered all water on the
surface of this planet to have been liberated by volcanic action.

3. Learn to distinguish between active and passive infinitives. Translate
the sentences into Russian.

1. This allowed him to follow the rules. This allowed the rules to be followed. 2.
This information enabled the scientist to make a forecast for the next few years.
This information enabled forecasts for the next few years to be made. 3. This
analysis permitted them to tackle the problem directly. This analysis permitted the
problem to be tackled directly.

4. Learn to distinguish between three different structures shown in the
following example. Translate the sentences into Russian.
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Examples: a) Before he gave up the research he had represented our research
group at international symposia. /lo Toro kak OH MepecTaJl 3aHUMAThCSA ITHM
HCCJICAOBAaHMECM, OH TMPCACTABIIAI Hamly MHCCICAO0BATCIBCKYIO TPYIIIIY Ha
MCKAYHAPOAHBIX CUMIIO3NYMAX;

b) He had our research group represented at the last symposium. On ycTpou Taxk,
YTO Hallla rpymnmna Obljia MpeICTaBlIeHa Ha TTOCJIETHEM CUMIIO3UYME;

¢) He had his assistant represent our research group at the last symposium. On
YCTPOWJI TaK, 4YTO €r0 IIOMOIONHUK MPCACTABIIAN HANly TPYIHIIly Ha IIOCICIHCM
CUMIIO3UYME.

1. They have supported the project both with money and manpower. They got the
project supported both with money and manpower. They got the committee to
support the project both with money and manpower. 2. He has kept the discussion
within reasonable limits. He had the chairman keep the discussion within
reasonable limits. He had the discussion kept within reasonable limits. 3. They
have left the problem out of the scope of their research. They had the problem left
out of the scope of their research. They made him leave the problem out of the
scope of his research. 4. He has extended the range of his observations. He had the
range of observations extended. He got his assistant to extend the range of
observation.

5. Translate the following into English.

1. Msae TtpygHo 00 »TOM cnopuTh 2. MM BaXHO TOAKPENUTH TEOPHIO
JIOTIOTHUTENbHBIMU ~ DKCIIEPUMEHTATbHBIMU  JTaHHBIMU. 3. Dusukam BakHO
MOJJICP)KUBATh KOHTAaKT ¢ Owojoramu. 4. PeOGeHky HEOOXOAMMO YYHUTHCA Ha
cobctBeHHOM ombITe. 5. Ham wacto TpymHo yraaaTth, kKakuM Oyxaetr Oymymee. ©.
EcrecTBeHHO, 4TO Ha TakoW aHaANM3 3aTpavyMBaeTCs OKoyo roja. 7. HeobOxommma,
9TOOBI peakius Obuia yckopeHa. 8. UToObl ABE MOJEKYJbI BCTYMHIM B PEAKIIHUIO,
OHM JOJIKHBI CTOJNKHYThCS. 9. DTO, MO BCEH BEPOATHOCTH, OKAXET BIMSHUE Ha
nanpHeumue coObiTrsi. 10. Pe3ynbpraTthl OKa3aanch B XOPOIIEM COOTBETCTBUH C
teopuei. 11. Pemenue 3Toil mpoOiaeMbl, KaK H3BECTHO, 3aBUCUT OT MHOTHX
dakropoB. 12. Oxupaercsi, uro pabota OyaeT 3akoHUeHa B 3TOM Mecsie. 13.
N3BectHO, 9TO OH paboTtaeT Haj »Tok mpobOiemoi. 14. OH, Kak W3BECTHO,
3aKOHYMJI paboTy HaJ 3Toi mpodOsiemoil. 15. CuuTaercsi, 4TO OH MPEICTABISIET
MHEHHE OOJBIIMHCTBA YUYEHBbIX. 16. ['OBOPST, YTO OH BHEC ONpEEICHHBII BKIaJ B
pemieHue 3ToM mpobOsnembl. 17. M He Tak-TO MpPOCTO OBUIO CIEAO0BATH ITOMY
mpaBuwry. 18. KaxeTcs, OH MOTHOCTBHIO MOTEPSII MHTEPEC K 3TOM mpoodmeme. 19.
Ham HeoOxoauMo mopajepKuBaTh KOHTAaKT ¢ 3Tod ynaboparopueit. 20. im ObuIO
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Ba)KHO CO3/1aTh 0J1aronpHsITHbIE YCIOBUS ISl IPOJOJIKEHUS ONBITOB. 21. MHe
TPYAHO yrajaaTh, KAKUM OyJIeT pe3yJibTar.

6. Read the text and be ready for a comprehension check up.
SCIENTIFIC ATTITUDE

What is the nature of the scientific attitude, the altitude of the man or woman
who studies and applies physics, biology, chemistry or any other science? What are
their special methods of thinking and acting? What qualities do we usually expect
them to possess?

To begin with, we expect a successful scientist to be full of curiosity - he
wants to find out how and why the universe works. He usually directs his attention
towards problems which have no satisfactory explanation, and his curiosity makes
him look for the underlying relationships even if the data to be analysed are not
apparently interrelated. He is a good observer, accurate, patient and objective.
Furthermore, he is not only critical of the work of others, but also of his own, since
he knows man to be the least reliable of scientific instruments.

And to conclude, he is to be highly imaginative since he often looks for data
which are not only complex, but also incomplete.

7. Answer the questions on the text:

1. What qualities do we expect to find in a successful scientist? 2. Why do
we say that a successful scientist is full of curiosity? 3. Why is it difficult to see the
underlying relationships? 4. Why is he critical of his own work? 5. Why is it
necessary for him to be highly imaginative? 6. Give a Russian equivalent of the
title and of the data analysed and the data to be analysed.

UNIT 8
Henn:
1. OBnaneth MIPaKTHYCCKUMU HaBBIKAMU MMOCTPOCHUSI MPOCTHIX
ITOBCCTBOBATCJIIBbHBIX HpGI[J'IO)K@HPIfI, ITOBCJIINTCIIBHBIX HaKHOHeHHﬁ,

MNPUTAKATCIIBHBIX M YKAa3aTCJIbHBIX MECTOMMEHMI (HaXOI[I/ITB X B TCKCTC,

YMETh MEPEBOJUTh HA PYCCKUH SA3BIK).
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2. Pa3BUTh HaBBIKM YTEHMs, MOMCKAa MH(POpMAIMM B KayecTBE OTBETOB Ha
BONPOCHI 00 MHKEHEPHBIX MPOPECCUAX HA AHTJIUICKOM S3BIKE.
3. OBnazeTh HaBBIKOM KPAaTKOI'0 IIEpECKa3a MPOYMTAHHOTO MaTepHala.
3HaHus M yMeHHs, NpUoOpeTaemMble CTYJACHTAMH B pe3yJibTaTe OCBOE-
HHUSA JAHHOH TeMbl, (opMHUpyeMBbIe KOMIIETCHIUM:
- pabota €O CiOBapsMH U CIPAaBOYHHUKAMM; HCIOJIb30BAHUE ayAHO- U

Buaco3anucen; Murepnera;

- OTBEThl Ha KOHTPOJIbHBIE BOIPOCHI; aHAJIUTHUECKas 0OpabOTKa TeKCTa
(pedepupoBanue, aHaau3); MOJATOTOBKA COOOIIEHMH K BBICTYIUIEHHUIO Ha

CECMUHAPC,

- BBIMIOJHEHUE YNpaXHEHUWH 1Mo o0pasily; pelleHHe BapUaHTHBIX

YIPaXHEHUM.
®dopmupyeMbie komrereHun: Y K-4.

AKTYaJIbHOCTh TeMbI: B OCHOBHBIX KOMMYHHMKAaTHUBHBIX CHUTYyalHsIX
HEOPUIIUANTBHOTO U OQUIMATBLHOTO OOMIEHUS Ba)XXHO YMEHHUE HCIOJIb30BaTh
HauboJee ynoTpeOuTeNIbHbIC JIEKCUKO-TPaMMaTHUYECKHE CPEACTBA MPU Pa3rOBOpPE

o npodeccumu.

TeopeTnveckas 4acThb

1. Grammar in proverbs. Translate these sentences into Russian and
suggest Russian savings of similar meaning.

A.l. Friends may meet, but mountains never. 2. A fool may ask more
questions than a wise man can answer. 3. Who seeks blows shall perish by blows.
4. He who would search for pearls must dive below. 5. What can't be cured must
be endured. 6. What's done cannot be undone. 7. If we can't as we throw stones. 8.
The beggar may sing before the thief. 9. None so deaf as those who wouldn't listen.
10. Bad seed must produce bad corn. 11. Accidents will happen. 12. It would make
even a cat laugh. 13. The cat would eat fish but would not wet her feet. 14. They
must hunger in winter that will not work in summer. 15. One must howl with the
wolves. 16. He who keeps company with the wolf will learn to howl. 17. Everyone
Is @ moon and has a dark side which he should not show to anybody. 18.
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Unpleasant things shouldn't be put off. 19. You can't keep trouble from coming but
you needn't give it a chair to sit on. 20. Life can be understood backwards, but it
must be lived forewords.

Bonpocsl v 3axaHus

2. Read the following sayings and proverbs and suggest a modal verbyou
would use if you were to translate them into English.

1. Tenun npuxonmsiT U yxonmsT, a aypaku octatorcs. 2. [lopa Ha mopore
KU3HM YCTAaHOBUTH YyKazaTenbHbIM 3Hak: "[lpaBeili moBopoT 3amperieH". 3.
YenoBeky CBOWCTBEHHO Hjealln3upoBaTh npouuioe. 4. Ha BoiiHe yero He ObIBaET.
5. Becemy ecth mpepaen. 6. Ciayxu pacmyckatorcs B Jiroboe Bpems roxa. 7. Ilon
Jexauuid KaMeHb Bojia He TeveT. 8. JIro0oBbh oOnaropaxkuBaeT yenoBeka. 9. Toiabko
HernyOokuil yenoBek nmo3HaeT camoro ceds. 10. M3 mecHu cinoBa HE BBHIKMHEIID.
11. OnpHoo6pa3ue nopoxaaer ckyky. 12. Komy ObITh Ha BUCENUIIE, TOT HE YTOHET.
13. PoxpaeHHbli mos3aTh - jetaTh He MoxeT. 14. IlpaBma MokeT OJIeTHETH,
HUKOT/Ia HE MOXET ymepeTb. 15. Ham mosioxkeHO TpyauThCs, HO HaM HE JIaHO
3aBEPIIUTh TPY/bI HAIIIU.

3. Read the text. Substitute the proper English modal verbs for the Russian
words in brackets.

Those who wish to become students at the university (o6s3ansi) take their
entrance examinations. Recruitment of students to the university follows certain
procedures which no one (paspermieno) ignore. If a perspective student is ill and (ue
B cocrosiuun) appear before the examination board he (mamnexut) present a
medical certificate to this effect, in which case the examination (mpuxomutcs) be
postponed. Another rule is that no student (re nomxen) be late for his examination.
Also, students (e momxHbI) argue with the examination board, although this is not
a regular rule, but rather wise advice. However, whether they strictly observe the
rules or not, there are always people who (moryt) fail in their examinations and
those who (o6sran0) succeed. This (Bcerna Ovia u Oymer) be the situation at all
times.

4. Read the text to yourself and be ready for a comprehension check up.

"WOULD YOU LIKE YOUR SON OR DAUGHTER TO BECOME A
SCIENTIST? IF SO, IN WHAT FIELD?"
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The questions were asked by the Literary Gazette and a British scientist was
reported to answer as follows.

"I would not like my son or daughter to become a scientist of the kind
typical in the world today. The development of science has already led to many
undesirable consequences and is likely to lead to many more unless great effort is
made to control the application of scientific discoveries. If, however, science could
be developed in a new way to become a meaningful social activity, | would be glad
to see my son or daughter doing science.

So far as the field is concerned, | think there will be a growing tendency for
scientists to occupy themselves with problems which affect fairly directly the lives
of people. There seems to exist a great need to develop science which deals
specially with the problems of how the applications of science affect man. To cite
but a few examples, there are such problems as urban development, education and,
of course, the prevention of war. If the new knowledge about the world is used for
the benefit of man, rather than for death and destruction, the human race can
continue to benefit from science for centuries to come™,

5. Answer the questions on the text:

1. What can you say about the form of the text and the title? 2. Is the answer
to the 1st question "yes" or "no"? 2. What are the author's reasons for this answer?
4. Under what condition would the answer be different? 5. Does the author indicate
any specific science in his answer to the 2nd question? 6. What problems are
considered by the author to be worth studying? Why? 7. What is necessary for
science to remain beneficial for people?

UNIT 9
Henn:
1. OBnanethb MPaKTHYECCKUMU HaBbIKAMH MIOCTPOCHUSI MPOCTHIX
IIOBCCTBOBATCJIIbHBIX Hpe,Z[JIO)KeHHI;'I, ITOBCJINTCJIbHBIX HaKHOHCHHﬁ,

OPUTSKATEIBHBIX M yKA3aTeJIbHBIX MECTOMMEHUN (HAaXOAUTh UX B TEKCTE,
YMETh MEPEBOJUTh HA PYCCKUH A3BIK).

2. Pa3BUTh HaBBIKM YTCHHS, MOMCKAa WH(GOpMAIMM B KadyeCcTBE OTBETOB Ha
BOIIPOCHI 00 MHKEHEPHBIX MPO(dECcCUsiX HA AHTIIUUCKOM S3BIKE.

3. OBnazeTh HABBIKOM KPaTKOTO TMepecKa3a MPOYNTaHHOTO MaTeprara.

3HaHus U ymenus, HpnoﬁpeTaeMLIe CTyACHTaMM1 B pe3yJjbTaTe 0CBOC-
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HMS JaHHOH TeMbl, ()OPMHUpPYeMble KOMIIETEHIMH:
- pabota co cloBapsMM M CHPABOYHHUKAMH; HCIOJB30BAHHE ayAHO- H

Buaco3amnucen; Murepuera;

- OTBETHl Ha KOHTPOJIbHBIE BOMPOCHI; aHAJTUTHYECKas 0OpabOTKa TeKCTa
(peepupoBanme, aHanaM3); MOATOTOBKA COOOIIEHUN K BBICTYIUICHHIO Ha

CEeMHHAPE;

- BBINOJHEHUE YNpaXHEHWH 1o o0pasily; pelleHHe BapUaHTHBIX

YIPaXHEHUM.
®dopmupyembie komneTeHun: YK-4.

AKTyaJ'II)HOCTb TEMbI: B OCHOBHBIX KOMMYHHKATUBHBIX CHTYyalUAX
HQO(I)I/IIII/IEUIBHOFO )51 O(PI/IIII/IaJ'IBHOI“O O6III€HI/ISI BaXKXHO YMCHHUC HCIIOJIb30BATH
HauoOoJjiee YHOTpC6I/ITCJIBHBIC JICKCUKO-TPaAMMATHYCCKUC CPCACTBA IIPU pa3roBOpPC

o npodeccun.

1. Translate these sentences into Russian, mind modal verbs and their
message:
May / Might
1. A small error in experimental values may be increased considerably by
calculations. 2. A small error in experimental values might be increased
considerably by calculations. 3. You may check the values. 4. You might as well
check the values. 5. "He might check the values." "But did he?" 6. | want to check
up these values, if I may? 7. | want to check up these values, if I might. 8. This
small error in the experimental values may be a result of calculations. 9. This small
error in the experimental values might be a result of calculations. 10. This small
error in the experimental values may have resulted from calculations. 11. This
small error in the experimental errors might have resulted form calculations.

Can/ Could

1.1t is common knowledge that growth substances can greatly influence the
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growth of microorganisms. 2. Saliva contains many growth substances and

although their amount is small they could greatly influence the growth of
microorganisms. 3. The old sculptors of our Gothic cathedrals could give form to
the most fantastic fancy, and crowd with grotesque monsters a curious world of
dreams. 4. You can manage without it somehow, can't you? 5. You could manage
without it somehow, couldn't you? 6. He could manage without it, but did he? 7.
This can be the obstacle we are to overcome. 8. This could be the obstacle we are
to overcome. 9. This can have been the obstacle they were to overcome. 10. This

could have been the obstacle they were to overcome.

Will / Would

1.A true scientist will enjoy his work more than anything else and would often
be prepared to sacrifice his weekends and vacations in order to proceed with the
research. 2. When working at his thesis he would spend his weekends in the
library. 3. | will agree on no account 4. High civilization has a survival value and
will therefore be favored by cultural evolution. 5. A gradual loss of free will would
imply that "wills" are Orwellian: "All are free but some are more free than others.”
6. You will have noticed that the truth could easily be quite different 7. I am sure

he would not have been able to resist the temptation.

Must

1. You must have completed this course of exercises before you can
appreciate its value. Only after you have carpeted it can you proceed to the next
stage. 2. For any society to accomplish such tasks the conditions must have been
especially favourable. 3. Family gossip made so many hours go lightly, so many
hours that must otherwise have been heavy to those who lived there. 4. There must
have been something serious behind the foolery or why would she have tried to

hide it. 5. One must have had some cultural background to understand it.
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Ought to
1. He looked in his heart for emotions. There ought to have been some but
he found none. 2. He ought to have been very romantic but | can only think of that
yellow kitchen soap he had smelled with. 3. He ought perhaps to have put a spoke
in the wheel of such studies. 4. He ought, under the circumstances, to have gone to

the dogs. Why had he not gone to the dogs?

Should

1. It is hard to believe that the ancient people should have known that it is
possible to win energy from heavy metals and how to do it. 2. Chemists should
always have been willing, nay eager, to utilize to the full any experimental method
or tool which would give them greater and more precise insight into the operations
which they were conducting. 3. The maximum was less sharp than it should have
been. 4. | should have been satisfied with my idea: everyone else would have been.

5. I am sure that on my evidence | should have been right.

2. Read the article using the dictionary. Render the article.
One-third of Britons are too poor to ‘join in with society’

Just under a third of people in Britain are excluded from mainstream society
because they cannot afford to join in cultural activities such as going to the cinema,
taking a holiday or buying consumer goods.

Research for the Joseph Rown tree Foundation shows that the poorest 30 per
cent are also prevented from “participating in society” because they have fewer
social relationships and less trust in other people.

“Participating is about belonging. Many of society’s expectations require
individuals and families to spend money,” the report, Poverty, Participation and
Choice, says. “Like it or not, Britain is a consumer society in which people are
assessed according to the income that they have, how they spend it and what they

do with their time.”
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Participation is defined by the report’s authors as “social relationships,

membership of organizations, trust in other people and purchase of services”.

The research by academics at Oxford and Sheffield Universities extends the
work done by the renowned sociologist Peter Townsend who famously said that
“poverty Is relative” — i.e., it prevents people from being full members of society.

The report found that participation in society falls as income falls, as might
be expected. But participation bottoms out for the 30 per cent of households with
the lowest incomes, for whom additional income then makes no difference. In
other words, there is a cut-off point for being a full member of society.

Below this “participation floor” incomes may vary wildly. But extra money
Is spent on replacing worn-out goods or upgrading services, rather than buying
extra things.

“Those [within the 30 per cent] with higher incomes do not have measurably
increased living standards, greater social participation or higher levels of trust,” the
report says. “The 30 per cent of people with the lowest incomes are forced to
choose between the basic necessities of modern life; they must decide which needs

to neglect.”

JIJ1sl IOATOTOBKH pe3ioMe MOKHO PeKOMEHI0BaTh HCMOJIb30BaTh B
HayaJie TeKcTa cieayomue ¢gpa3bl:

The title of the text (article) is...;

The text (article) is written by..;

The text (article) is taken from the book . ;

The text (article) gives us an outline ..;

The text (article) goals The text (article) faces the problem.. ;
The main problems discussed are..;

The author emphasizes the idea of..;

The text (extract from the article) deals with (the problem of)..;
The article touches upon the issue of. ;

The extract from the book is concerned with. ;

This text is about. ;

The extract centers round the problem of. ;

The problem of the text is of great importance ..., etc.

B cepennne npensiaraeMmoro pe3rome OyayT yMecTHbI (ppa3bl:
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The author believes that...;

He points out that...;

The text (article) discusses...;

The text (article) examines (analyzes, stresses, indicates, includes, suggests,
defines, conveys, illustrates)...;

It was observed in the text (article)...;

It was further noted...;

In this regard...;

It is clear from the text that...;

It farther says that...;

One of the main problems to be singled out is ...;

Great importance is also attached to;

We shouldn't forget that...;

It should be noted that;

It must be mentioned that...;

In my opinion;

To my mind...;

According to the text...;

Judging from the author's point of view...;

Among other problems the text raises the problem of..., etc.

3aKOHYHUTH pe3loMe MOKHO C MOMOIIBIO CJIeTYIONIUX CJI0B WM (ppa3:
Finally (in the end) the author admits (emphasizes) that...;
To sum it up;
In summary;
Summing the text up (summing it up);
The author comes to the conclusion that;
| think (suppose, believe)...;
In general..;
On the whole;
In particular..;
It is common knowledge...;
Having analyzed the information it is possible to say;
In conclusion;
All things considered we can come to the conclusion, etc.
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